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3. s IENA gy o 2717

@40° @ 45° ® 46° @ 47° ® 48°

LAPB = % x 180° = 90°
s Ly = 180° = (90° + 50°) = 40°
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BE=BD=7-5=2(cm)
AF =AD =7 (cm)
CE=CF=7-4=3(cm)
BC=2+3=5(cm)
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DB =4cm, CE = 5¢cm, AF = 6cm
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AD = AF, BD = BE, CF = CE°|E&2
AB +BC + CA = 2(AF +BD + CE)
=2(4+5+6) = 30(cm) °]T}.
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@is0c @18 @ 190° @ 195° O 200°
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Lx = 3 x 220° = 110°

1
Ly = 3 x 140° = 70°
L Lx+ Ly = 180°
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o] A7|E F5HA?

O 35° @ 40° (@)45°
@ 50° ® 55°
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OA =0B 0|22
LAOB = 180° — (45° + 45°) = 90°

Lx:%x90°=45°
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@® 10° @ 20° ® 30° @ 35° ® 40°

APOT = APOT/ (RHS &%)

1
rx=5(180°~140°) = 20°




9. H=IHeMP

T = A4l

®)8cm ® 12cm

AO =TO = r o]z} 314,
OP2 = PT? + OT?2 ¢ &J5}o]
(r+22%2=36+r>..r=8
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